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Class:10th

Subject:Physics(Objective)

1 . )
In conves mirror focus is:
(a) Centre the mirror (b) infront of mirror

(c) on the mirror (d) behind the mirror

@ &Ly
© pil.,

Time:12 min

_c‘-t'nuf ;’K//Jgif ...g

by &Ly
@ LL,

2 A converging mirrot with radius of 20cm creates £ L6L30eme sy +2ocmw’»§1 I
a real images 30cm from the mirror a real images

30 can from the mirror what is the object

distance?
a Scm b 7.5cm
c 15cm d 20cm
3 Refractive index depends upon:
(a) Focallength (b) speed of light
(c) image distance (d) object distance
4 Optical fiber works on the principal of :
(a)  Refraction (b)  Refraction

(c) Total internal Reflaction(d) Diffraction

> The images formed by convex mirror is:
(b)
(d)

® The endoscope which is used to examing throat
is called:

(a) real & erect real & inveted

(c) virtual & erect

(a)  Gastroscop (b) Cytepeope

(c)  Bronchoscope (d) MNone of thse
! Snell's Law is:

@) n= sinr (b) sini

(¢) n=sini (d) n=sinr

8 The power of lense is equal to

(a) 4/f
© 2/t

)3/t
(d) l/f
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(b) 7.5cm

(d) 20cm
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